
1 MD D16-0017 13-Jan-16 Change 09.0400.BL to 09.0400.BL.A  

Parts Diagram

Warning: This drawing format requires special non-standard fonts!!
Make sure the appropriate font files are installed!!!

TT Humanst 521 BT (page heading)
TT Humanst 521 BT Light (drawing title)

O HelveticaLTStd-Cond (table column headings)
O HelveticaLTStd-LightCond (table text and call-outs)

 Classroom Furniture
®

Intellect Wave
4-Leg Caster Chair with or without Book Rack

June 2021

©2021 Krueger International, Inc.  All Rights Reserved · P0035-0014 · Rev. 2 · Page 1 of 1

KI · 1330 Bellevue Street · P.O. Box 8100 · Green Bay, WI 54308-8100 · 1-800-424-2432 · www.ki.com

Item Part Number Item Description Req Qty Item Part Number Item Description Req Qty
1 46.9104.XXX Shell, 18" Large Chair 1  7 46.9312.X Assembly, Front Caster Socket Bushing (see note)  2 

46.9105.XXX Shell, 15" Medium Chair 1 8 46.9313.X Assembly, Rear Caster Socket Bushing (see note) 2
 2 46.9271.XX.X Weldment, 18" 4-Leg Caster Chair Frame with Book Rack (see note) 1  9 09.0400.BL.A.X Caster, 50mm Snap Ring Carpet  4 
3 46.9270.XX.X Weldment, 18" 4-Leg Caster Chair Frame (see note) 1 V.09.0110.BL.X Caster, 50mm Snap Ring Hard Floor 4

46.9269.XX.X Weldment, 15" 4-Leg Caster Chair Frame (see note) 1 10 IWRC Seat & Back, Upholstered 1
 4 12.0074.P.X Screw, 1/4-20 x 5/8" Torx Pan Head 6  11 IWRC  Seat, Upholstered  1 
 5 46.9141.X Bumper, Stacking Front 1 12 12.0121.X  Screw, #10-24 x 7/16” PTH M/S  5
6 12.0561.X Screw, #10-24 x 1-1/4" Torx Pan Head 1 13 12.0110.XX.X  Screw, #10-24 x 1/2” PTH   

 
 4 

Item Part Number Item Description Req Qty Item Part Number Item Description Req Qty
1 46.9104.XXX Shell, 18" Large Chair 1 7 10.0085.X Glide, Steel Toe, LH 2

46.9104.XX.U Shell, 18” Large Upholstered Chair 1 10.0091.X Glide, Nylon Toe, LH 2
2 46.9120.BR.XX.X Weldment, 18" Cantilever Frame with Book Rack (see note) 1 10.0136.X Glide, Felt Solo Toe, LH (see note) 2
3 12.0074.P.X Screw, 1/4-20 x 5/8 6-LO PAN 6 8 10.0129 Cap, Felt Glide (see note)  4 
4 46.0453.X Screw, #8-32 x 1/2" Torx Flat Head (see note) 4  9 10.0138.X Removal Tool, Felt Glide Cap (not shown) (see note)   1 
5 10.0083.X Glide, Steel Heel, RH (must order Item 4 seperately) 1 10 IWRC Seat & Back, Upholstered  1

10.0090.X Glide, Nylon Heel, RH (must order Item 4 seperately) 1 11 IWRC Seat, Upholstered  1
10.0134.X Glide, Felt Solo Heel, RH (see note) (must order Item 4 seperately) 1 12 12.0121.X Screw, #10-24 x 7/16” PTH M/S  5

 6 10.0082.X  Glide, Steel Heel, LH (must order Item 4 seperately) 1 13 12.0110.XX.X Screw, #10-24 x 1/2” PTH  4
10.0089.X Glide, Nylon Heel, LH (must order Item 4 seperately) 1
10.0135.X Glide, Felt Solo Heel, LH (see note) (must order Item 4 seperately) 1

.XX = Select Color

Optional Upholstered
Seat & Back

.XX = Select Color
Items 2 & 3 replacement frames do not come with casters or bushings. Casters or bushings must be ordered seperately.
Item 2 book rack frame only used on large chairs.

.XX = Select Color
Item 2 replacement frames do not come with glides. Glides must be ordered seperately.
Item 6 felt glide (used after 2011), uses caps that are replaced when worn.
Use item 7, felt cap to replace. 
Item 8 glide cap removal tool (not shown) is used to remove old glide caps for replacement on felt glides. 
See KI-RR-000030 for instructions.

1

2

8

7

9

4

10

11

13

12

3

5

6


	Sheet 1
	Views
	new_view_1



